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u0=1; £=1; r=0.1; ParametricPlot[{x, ¥}, {t, 0, 20}, Axes - False, Frame - True]
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4. cont’d
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%matlab code to generate velocity and stream function plots (above)
H=1;g=9.8;p0=1024;a=2000; =2 (2*pi/ (360%24%3600) ) *sin (40*pi/180) ;

[x,y]=meshgrid (0:100:2000,0:100:2000) ;

p=sin(pi*x/a) .*sin(pi*y/a)*H*g*p0;
=-1/(£*p0)*pi/a*sin(pi*x/a) .*cos (pixy/a)*Hxg*p0;
v=1/(£*p0) *pi/a*cos(pi*x/a) .*sin(pi*xy/a)*H*g*xpO0;
subplot(2,2,1)

quiver(x,y,u,v)

set(gca,’XLim’, [0 2000],°YLim’, [0 2000])
xlabel(’x’),ylabel(’y?),title(’velocity’)
subplot(2,2,2)

contour (x,y,p/ (£*p0) ,10)

xlabel(’x’),ylabel(’y?) ,title(’streamfunction (high at center)’)



